Name: Date:

Teacher: Class:

Subtraction 502

What is a bow that is impossible to tie? A rainbow.

Subtract these numbers to find the total.
Some questions involve trading.

L9214 2 14273 75434 7,387 > 1,079 ¢ 3,794
— 2,20/ — 888 3,043 —-1,014 - 955 1,216
6,018 5080°% 1,7151% 2580 1 3,061 12 8,216
— 2,358 — 2,541 687 —-1,689 - 1,705 912
133,674 4 2,869 1> 425116 18711 4,443 18 8,445
— (48 - 2,184 1,69/ —-1,353 - 810 4,642
196,682 20 6,389 2 8,348 22 8,312 2 2,484 %4 3,505
— 6,08/ — 3,274 4946 - 608 — 881 735
256,774 6 2544 27 1,656 %8 4,119 2> 9,141 30 8,600
— 5478 - 1,073 5/5 —1,864 — 506 2,165
3. 3,602 3 7,964 33 5309 3% 2,521 3 9,369 % 9,946
- 1,920 - 6,759 5,0/3 —-1476 — 4,236 2,410
87 5,176 %% 8,083 %% 5561 4 1,463
— 4,359 — 3,855 2243 - 794
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Answer Key Date:

Teacher: Class:

Subtraction 502

What is a bow that is impossible to tie? A rainbow.

Subtract these numbers to find the total.
Some questions involve trading.

L 92142 1,427% 75434 73875 10796 3,794
~ 2207 — 838 —3043 -—1014 - 955 — 1216
7,007 539 _ 4500 _ 6,373 124 _ 2578
7 6,101% 5080°% 1,715 25801 3,061 2 8216
— 2,358 — 2,541 687 — 1689 — 1,705 912
3,743 _ 2,539 __ 1,028 891 _ 1356 __ 7,304
13 3674 14 2,869 15 425116 187117 444318 8445
— 748 -—2184 —1697 -— 1,353 — 810 — 4,642
2,926 685 __ 2554 518 _ 3,633 __ 3,803
19 658220 6,389 2 8,348 2 8312 % 2,484 2 3,505
~ 6,087 — 3274 -—4946 — 608 — 881 735
495 3115 _ 3402 _ 7,704 _ 1603 __ 2770
5. 774 % 25442 165628 4,119 2 9,141 ¥ 8,600
— 5478 — 1,073 575 - 1864 — 506 — 2,165
1296 _ 1471 __ 1081 _ 2255 _ 8635 __ 6435
. 3,602 % 7,964 ¥ 53093 2521 % 9,369 % 9,946
~ 1,920 —6,759 — 5073 — 1476 — 4236 — 2,410
1,682 __ 1205 236 1045 _ 5133 _ 7536
. 5,176 % 8,083 ¥ 5561 % 1463
— 4359 — 3,855 — 2243 — 794
817 __ 4228 _ 3318 669
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